Table S2: Cellular scaling rules for the current sample of marsupial brains. MBR = average mass of the whole brain; NBR = average number of neurons of the whole brain; MBD = average body mass; MCX = average mass of the cerebral cortex  (including hippocampus); NCX = average number of neurons of the cerebral cortex (including hippocampus); MHP = average mass of the hippocampus; NHP = average number of neurons of the hippocampus; MCB = average mass of the cerebellum; NCB = average number of neurons of the cerebellum; MROB = average mass of the rest of the brain; NROB = average number of neurons of the rest of the brain; MOB = average mass of the olfactory bulb; NCX = average number of neurons of the olfactory bulb; MCX(-HP) = average mass of the cerebral cortex  (without hippocampus); NCX(-HP) = average number of neurons of the cerebral cortex (without hippocampus); MROB(+HP) = average mass of the rest of brain  (including hippocampus); NROB(+HP) = average number of neurons of the rest of brain  (including hippocampus); DNCX = average density of neurons per milligram of tissue of the cerebral cortex; DNCB = average density of neurons per milligram of tissue of the cerebellum; OCX = average number of other (non-neuronal) cells of the cerebral cortex; OCB = average number of other (non-neuronal) cells of the cerebellum; OROB = average number of other (non-neuronal) cells of the rest of brain. All masses in grams.
Dependent variable
Independent variable
Power function
p value (exponent)
95% Confidence interval

MBR

MBD

MBR = e-3.680 x MBD0.742
<0.0001

0.620-0.864


NBR

        MBD

NBR = e15.797 x MBD0.554 
<0.0001


0.472-0.636

MBR

NBR

MBR = e-24.804 x NBR1.338 
<0.0001

1.226-1.450
MCX

NCX

MCX = e-22.703 x NCX1.329 
<0.0001

1.135-1.523



MHP

NHP

MHP = e-22.768 x NHP1.388
0.0012

0.860-1.916





MCB

NCB

MCB = e-23.421 x NCB1.186
<0.0001

1.112-1.260


MROB

NROB

MROB = e-26.017 x NROB1.598
0.0006

1.050-2.146
MOB

NOB

MOB = e-15.536 x NOB0.833
0.0380

0.499-1.167





MCX(-HP)

NCX(-HP)

MCX(-HP) = e-21.972 x NCX(-HP)1.292
<0.0001

1.074-1.510
MROB(+HP)

NROB(+HP)

MROB(+HP) = e-26 x NROB(+HP)1.576
0.0004

1.066-2.086
DNCX

NCX

DNCX = e15.795 x NCX-0.329
0.0117

-0.523- -0.135


DNCB

NCB

DNCB = e16.513 x NCB-0.186
0.0010

-0.260- -0.112



DNROB

NROB

DNROB = e19.109 x NROB-0.598
n.s.


n.s.




DNCX

MCX

DNCX = e10.217 x MCX-0.275
0.0013

-0.381- -0.169
DNCB

MCB

DNCB = e12.841 x MCB-0.163
0.0002

-0.215- -0.111
DNROB

MROB

DNROB = e9.494 x MROB-0.481
0.0010

-0.659- -0.303
DNROB

MBD

DNROB = e11.628 x MBD-0.330
0.0014

-0.460- -0.200



NCX

MBD

NCX = e13.797 x MBD0.565
0.0002

0.405-0.725





NCB

MBD

NCB = e15.422 x MBD0.577
<0.0001

0.503-0.651




NROB

MBD

NROB = e14.159 x MBD0.349
0.0017

0.209-0.489




MCX

OCX

MCX = e-18.754 x OCX1.036
<0.0001

0.968-1.104




MCB

OCB

MCB = e-18.413 x OCB1.004
<0.0001

0.834-1.174





MROB

OROB

MROB = e-18.684 x OROB1.030
<0.0001

0.968-1.092







